

Cross Border Community Eye Health Care Report 2019(October to December)

1.Introduction

The eye department we have more activity in karen state because the community know more about our eye program and we are getting more patients when we have clinic, in our finding we have discovered that many of our patient have eye problems, they do not have the money to go to the centre hospital that is why we have set up treatment programs in our state. The people come in clinic not only karen but sall the ethnic group in Burma.

The End of raining season and becoming dry season (September) our eye mission in karen state we start travel in jungle village and treated eye care again. The eye mission started first in HQ They bay tar the last week of September 2019 and them continue to other districts. The eye mission in HQ They Bay Tar we saw more people than in years before and the other district more and more people came. We did not have enough of the equipment we are limited.

1. In October 10 to 15-2019 eye mission cross border clinic (bang Klang) for 5 days. We treated many eye patients and other diseases. We are giving eye glasses to people but, as usual the supply of eye glasses is not enough. The number of people come to clinic total screening was 386.





woman repair

Big Lymphoma Remove

Causes	Male	Female	Total
Cataract	20	36	56
Glaucoma	0	0	0
Pterygium	1	0	1
Eviscerations	0	0	0
Rotate Eye Lid	0	0	0
Revision AE	1	0	1
Chalazae	0	1	1
provide glass	80	120	200
Register	32	37	69
Other	2	1	3

2. In October 21 to 26 eye mission again Tokawko Nor tar yar clinic (PC HQ) Kawkaric township for 6 day. Treated many eye patient, we not enough IOL and eye glass. they request another eye mission again in 2020 January or February. the number of people that came to clinic total screening was 495.



Causes Male Female Total Cataract Glaucoma Pterygium Eviscerations Rotate Eye Lid **Revision AE** Chalazae provide glass Register Other

3. In November 4 to 11-2019 eye mission K2 Taw Oo district Hto Lwe Wah school –Tar Ta Bay township –consultation and eye operation for 8 day. Before we opened our clinic and started checking patient our leader K2 secretary Saw Eh Wah gave a speech to community people about eye program. This time too many people come in eye clinic, the number of people come to clinic total screening 580.





🔊 one day later





Speaking by K2 Secretary –Saw Eh Wan

Causes	Male	Female	Total
Cataract	41	61	102
Glaucoma	0	2	2

Pterygium	1	2	3
Eviscerations	1	1	2
Rotate Eye Lid	0	0	0
Revision AE	0	0	0
Chalazae	0	0	0
provide glass	262	180	442
Register	94	106	200
Other	1	0	1

4. In November 14 to 20-2019 eye mission K3 Kler lwe too district —moun township —Mayar Bay clinic, consultation and operation eye for 7 days. Before we started the clinic speak by women organization leader and K3 (KNLA) health in charge Saw Hser Tha. The clinic was not close to the town clinic building but was in the jungle. This was the first time our eye mission in moun township. The people come in clinic total screening was 538.





First day people for eye consultation

Jungle clinic

Causes	Male	Female	Total
Cataract	39	61	100
Glaucoma	0	2	2
Pterygium	4	3	7
Eviscerations	2	0	2
Rotate Eye Lid	0	0	0
Revision AE	0	1	1
Chalazae	0	0	0
provide glass	101	181	282
Register	54	111	165
Other	0	0	0

5. In November 29 to December 6 eye mission again Dee Bu Noh clinic Dwe Lon township for 6 day. Treated many eye patient, we not enough eye glass, we need more eye glass the number of people that came to clinic total screening was 305.



Dr Bob do squint eye



surgery

Causes	Male	Female	Total	
Cataract	24	22	46	
Glaucoma	2	1	3	
Pterygium	0	1	1	
Eviscerations	1	1	2	
Rotate Eye Lid	1	0	1	
Revision AE	0	0	0	
Chalazae	0	0	0	
provide glass	135	127	262	
Register	44	34	78	
Other (Squint eye)	1	2	3	

(5) Eye Mission in karen state schedule 2019 September to December

IOL for useing	Location	Date start operation	Date End of operation
100	Pa An district-They Bar Tar	24/9/2019	30/9/2019
100	Bang Klang (FBR) clinic	10/10/2019	15/2/2019
100	Pa An district-Tokawko	22/10/2019	26/10/ 2019
100	K2 – Taw Oo District	4/10 2019	11/11/ 2019
100	K3- Kler Lwe Too District	14/10/ 2019	20/11/2019
100	K5- Mutraw District	29/11/2019	6/12/2019

(5) For our eye mission, eye activity the donation and supply from

Date	Donation By	Amount
21/10/2019	21/10/2019 Free the oppressed Donation Transportation	
	Free the oppressed Donation eye equipments	348,340 Baht
		452,340 Baht

() Spending Money for eye mission

NO	Material	Order	Price	Amount
1	Intraocular Lens	460	450	207,000 Baht
2	Aurovisc	80	350	28000 baht
3	Sun glass	400	20	8000 baht
4	Auroblue	20	150	3000 baht

5	Syringe 10cc	7pk	400	2800baht
6	Syringe 3cc	7pk	350	2400 baht
7	Syringe 1 cc	7pk	350	2400 baht
8	BSS 500ML	15 Box	250	3750 baht
9	Decordex eye drop	100 dozen	300	30,000 baht
10	Provedone	6 pcs	120	720 baht
11	Alcohol	10 pcs	35	350 baht
12	Plaster	30 roll small	24	720 baht
13	Lidocain 30 ml	70 vial	85	5950 baht
14	Normal saline 50ml	25 box	35	3500 baht
15	Тео	100 tube	35	3500 baht
16	Diamox	50 tab	5	250 baht
17	Needle 25g	10pk	50	500 baht
18	Needle 24g	10pk	50	500 baht
19	Food			20,000 baht
20	Transportation for eye mission			25,000 Bath
	Total			348,340 Baht

2019 the whole years eye operation Total $\,$ - 1079 $\,$

Causes	Male	Female	Total
Cataract	355	586	941
Glaucoma	5	26	31
Pterygium	35	26	61
Eviscerations	11	4	15
Rotate Eye Lid	1	0	1
Revision AE	4	1	5
Chalazae	1	1	2
provide glass	4650	3604	9333
Register	9808	8934	18,742
Squint eye	4	5	9
Other	5	3	8
Ptosis	2	1	3